a4 X ik =
(AALAR: BHEER—BHE )

A #L =| Brlemn 5 & 11 A 15 B 9 B 00 &

A B AR R B UIRET 1% 35

A BT B B LEF ME 5 - HEF BC

I F & SBlsm 55H5E % 5

I E £ BABEZEERBREIZERUASHPAREREERNEBREISE
I % & A ABIRETKF HEA-DHRE A

FE B (B k) 28,990,000 [

B 1K il R i 48 (Fi k) 26,660,000 [

ARLES %£] %g] %gj % =
SINBHEHR R 28,600,000 - ig;{}ﬁi
BRSMIHEER 26,500,000 %gﬂ[‘i&ﬁff%
BAEHTLR IR
ARs+HERER iR

LEREZEIC1000 DI10IZHEH T HEEEMEL-EEA KRS IRET 2 EFRE| EDHRAHIZFZRD
M TH5,
I 4% 5 4% 11 A 22 H

H
T # SRR 4% 6 &£ 2 A 19 H



